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D (x-y-1)2=x2+y>+1-2xy—2x—2y
@(a +b)%(a-b)? = a* - 2a°p* + b*

® (—x+3)3 =x%-9x% +27x-27

@ (a-b)(a®>+ab-b?) =a®-b3

® (p-1(P*+1(p*+1)=p-1

B

O (x-y-12=x2+y>+1-2xy-2x+2y
® (=x+3)3 = —x3+9x% - 27x + 27

@ (a-b)(a® +ab+b2)—a -b?

© (p-Dp+ P>+ (p*+1) =p° -1
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O (x+1)(x-x+1)=x3+1
@ (a+2b-3c)* = a®+ 4b% + 9¢2 + 4ab — 12bc — 6ac
® (x+2)(xP-2x+4)=x3+38
Q(XQ_xy+y)(x2+xy+y2) =x4—x2y2—|—y4

©® (x-

DPx+1)2=x*-2x2+1

@ (2 -xy+y*) (P +xy+y?)
= (2 +y*)? - (xy)?
— x% 4 a2)2 4yt
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(a+b-c)la—b+c)E ANstH?

@ a?+b%-c2%-2bc
® a?+b% -+ 2ab

® a®-b%-c?-2ab

@ a® - b+ % - 2bc
(@)a2—b2—02+2bc

(a+b-c)la=b+c)

:az—bz—c2—|—2bc




5. x+y+z=1Lxy+yz+zx=2xz=34 M, (x+1)(y+1)(z+1)
of ke Fatoler,
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> ®™e: 7

x+D+1(+1)
=xyz+xy+yzt+tzx+x+y+z+1
=7
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@ (a+b+c)? =a®+b*+ c® + 2ab + 2bc + 2ca

@ (a+b+c)(a®+b*+c?—ab-bc-ca) =a’+ b+ ¢ - 3abc
® (a+b)? = a3+ 3a’b + 3ab® + b®

@ (a-b)® =a®-3a’b + 3ab® - b®

@(a +a+1)(a®-a+1)=a*-a*+1

® @+a+)(a*-a+1) =(a®+1)-
=a*+a’+1




7. P=(2+1)22+1)2*+1)(28+1)(210 + 1) 9 g FotH?

@232_1 @232+1 @231_1
@231+1 @217_1

~&B

Fol Aef (2-1)
P=(2-1)(2+1)(2*

=(22-1)(22+1)(24
(24 -1)(2* + 1)(28

=12 5= A AHstER
1)(2* +1)(2° +1)(2'° +1)
D+ 1)(2'6 +1)
1)

1
+
_|_
+1)(21¢ + 1)

= (210 - 1)(21% + 1)
=232 _1




